SHEMARPE SRS RAEE  HHf: 93.10.28

&t . iR %
2-4 SR +A
" FmEAFEL+ANS e %
— E_:EE EI (/—EIE 10 ﬁ)

BE

1-(B) IH&FFA(42 D ox I S VA PR L (A)x=4 (B)y=2 (C)z=-1
(D)x+z=3 (E)x+y+z_

[ RS+ G R A R bE N 1] HE | £5(0,1,0)

2~(B) — TEOAREL2, )T T T PIX+2y 32 =05 X -y + Z =10 JIfFT iy
HFEFEL (A)3x—2z=1 (B)3x-z=2 (C)2x-z=1 (D)x+y+z=4

Zﬁ%j PR (x+2y -32) +k(x—y+z-1)=0» [* * (1,2,1)i 2-k =0

Sok=2 S PEIEE3X-2=2

ggpegag o | 2X T Y+32=0
y(%ﬁ@ﬁ@*%%@gﬁ%ﬁﬁk{ y

AR AT 2 (A)y =0

4x+3y+62=0
2x+3z2=0 +1y+3 6x+4y+9z=0
(B){ = (©)x=y=0 ) 2 (E){2X+ +3z2=0
y= 4x+3y+62:0 y B

F(A)Y =0 B R S

- 2X+y+3z=0---O
B) . RHE
(B)" KEEH {4x+3y+62:0--~®

0
@O-Dx2= y=0f" ' O=2x+32=0 .. Atg))
i 2x+3z=0
©) st A

1 3
XSy +o1= O---®’®X2:{2x+ y+3z=0

= (B)fil-

(D) SR A

AX+3y+62=0 4x+3y+62=0
6x+4y+9z=0---©

(E) _
2X+y+3z=0---©

. {2x+3z:0

y=0

DO-0x3=y=0""@=2x+3z=0

b
FiE)

[ [F‘fijé;r% 3

-

= (@)

-

4~ (AD) (FZE )l% TR i x+ky+2=0Z"E,: X+~/2y —z +1= 09 #| 8],
(MJ_BM@RQ)J_EFZ
1| a2kl | .
cos =5= k242=2k? » " k=42

- ‘\/l+k2 1-41+2+1 ‘

—. E7RE (BRE 10 4)

5 AR~ T EIE2x-y+32=7 » WRETAL3.2), B(2,15) » FIiELAB LT FIE R

C - JJAC:BC = .

:2:3

2-3+6-7 |4 1+15-7

f245| : AC:BC=d(AE):d(B,E)= i N =2:3
6 ~ it A(L, 0, 2), B(0,-2, 3), C(1,-5,-3)= %Hﬁjfj‘ AR °

£1H



3471 & AB=(-1-2,1), AC =(0,~5,-5)=5(0,~1 1)

—

n.AB |t A =
‘thn_ABxAC_( )=(3--1-1)
- -1 0/ -1
nLAC
SE3(x-1)-(y-0)+(z-2)=0 > .".E:3x—y+z=5
7~ F PAIS)ET I E:3x -6y +2z=d [UHEERL 4 > [l][d = °

[§ %]: 23733
— . |3-18+10-d| :
[i#44] : Fao e =4, |d+5=28, d =235 -33
j*yzj FIEE2X+2y — 2 = AP E T ST A0 °
P 5X+2y-z=4Fi x-2y+2+4=0
syz AR X =0

2X+2y—7-4
:>¥:| X+ ); : |J_r(3x):2x+2y—z—4
JOX+2y—z2=4H x-2y+2+4=0
9- %}%ﬁA(?,,l,—l) » TETEiX=2y+z=4 > [[ AT Ef,j/jf&,%g%#rg@ ; ;ﬁﬁ&ﬁﬁ
p 11 1 13 51
E G ) G503
: A(3,1,—1)’ T EX-2y+2-4=0=t=3-2-1-4=-4
1x1x(-4) 1x(-2)x(-4) 1x1x(—4) 11 -1 -1
EJJ Y - L T L+ =\ o
YR P+ (=2 +12" 1+ (=22 +12 12+(—2)2+12) G373
. 2x1x (-4 2x(-2)x (-4 2x1x (-4 13 5 1
éi‘j‘%#ﬂ_z (2)2’_2()2(2)’__2 (2)2)( ™,
1°+(-2)°+1 1°+(-2)°+1 1°+(-2)° +1 3’3
o a N 53 \
10 ~ O T PIXx-2y+2=T=kx—y -2z =117 | » ¥ sinf=—— 5  Hlfk = FY
53] 22
] : cosp= L2 K172 =i£,k=i2
J6k? +5 9

11~ F) AL5X—y -2z =31 bl CREP(3,1,-2) 7 it - B HITAP BEEL ]
s NI ARER ff_%k "

-—f P
2 2 2
tP(31,-2) > A TRIE: 5x-y-2z-3=0=t=15-1+4-3=15 » P [T F1V {THY
1x5x15 1x(-1)x15 1x(-2)x15 13
(3-= 2 2 2 2 725 2 7)=G5-1)
5+-D°+(-2) 5+(-D°+(-2) 55+(-D°+(-2) 2 2
5. 15 _ 30
V3o 2

£2H



12~ A5 1) T E o ST EEED PR3-y +52=7, x-y+2z=1115=1 > [I[|

[o1 E A °
: 3X—y-2z+1=0

34 W =(3-15xL-12)=(3-1-2)  3x—y-2z+1=0

13~ FP(3,1,1), Q(1,0,-4), R(3,4,0) » ™ [ E@;HP% FASLQR =T FIE  HTEIE
U_T'J%E,\‘E." o

&l x+2y+22=7

347 ngﬁza?:(244) X+2y+2z2=7

14 ~ T E TS 20 pg (2 =3,1)=2(1,1,7) » J[IFF 1 E pui AR o

¥ %[t 4x+y=5

DUTRIET S 2@t CErax+by=k iRl (2-1,-3-11-7) = (1 -4,-6)

(a,b,0)-(1,—4,-6)=0 J.a-4b=0>Ia=4, b=1 » Ax+y=5

15~ TP E2x-y+2z=3 FI P F=I i ED 7 S E VERESSL 20 [T R

AT b :

: 2X—Yy+22=9; 2Xx-y+2z=3
:F%ﬂ‘f&-lF: 2x—y+2z=K d(E,F)= |3\/§k| 2 . |k-3=6, k=955-3

AHAHEAEG 2x—y+22=9, 2x-y+22z=3
6~ {11 ARG L)E 1 B fufsyRin(1,2,1) o FIF B E U701 °
2 2x—-y=0
[f#49] © iR (3-11-21-)=(2-1,0) T FIEE2x-y=0
17\F%E :X+ky+z-12=0,E,:x+y+kz=5 > i}
L)% E, LEZEﬁ Mik=___ - (¥ B2 E, 7 755 60 » Fk= .

2 (1) _E (2) 0 Fi% 4 -2

faii] s n=(LkD,n, =LLk)

(1)... ElJ_ EZ”.’ ﬁ;rTZ :1+k+k:0’_._ k:—%

1| 1+k+k |

_‘\/l+k2+1 J1+1+k? ‘
Sk =4k =0F5k* +4k+4=0 » " k=0F 4 52 -

18 + I E 1| EIJ‘A(Z -31),B(4,1,2) ¥ T I E T I Fi7x-y+22 =551 » T FIE

= k% +2=42(1+2k)

(2)cos60° =

:[LJET_J%‘E?\: ’;"r
¥ & 3X+y-10z=-7
47| - AB=(2,41) ~n.=(7,-12)
SV ELE B pENABxN =3(31,-10) T I E3x+y-102=-7
19~ T B 3x+ Y+ 2kz =5 T B kx -2y + kz =12 A= fllTk = FY o
1
RS2
B

£3H



17 1 E, LE,, 312k)-(k—2.k)=0 .'.k=%ﬁ9—2

20 ~ r%“j‘fh'lELZX—4y+32=ll » T B 4x+ay+bz=5 > T FIE3x+y—cz=7 > T

EJ/E, > Hlla= . b= P E T RIE, LE, - fllc= :
2
&R 86
3
2 -4 3
#44|: ENE, J.>=—== . .a=-8, b=6
e 4 a b
E,LE, ..E,LE .'.(2,—4,3)-(3,1,—c):0,c:%

F T BT L2x -2y +2 =97 (5 SIS IS VBRI, 125 [T 1 E pUh RN

%] 2x-2y+z2=12

_ k k _
# : %‘j\il . - = °.'_I'\: I {\ Y ’ T T ’ y Yy I T3
BB 2x-2y+ 2=k P = iy (5:0.0),(0.-2.0),(0,0.k) B

.‘.5+(—E)+k:12:>k:12 S EIER2x-2y+2=12
22 ~ F 1-A(3,1,0), B(l 5,2), C(5,2,1) - EI[P‘ 1ABC A 1 »
AABC pLJ]? I%? ED, [EFFD(l 0,8){% &1 1 ABC - flla= o

: X+3y—-52=6; \/_;—1
i#47]: (1) AB = (-2,4,2), AC=(2,11), ABxAC=(2,6,-10) .. [I ABC £% x+3y—52 =6,
(2)AABC Eﬁéﬁ:ﬁ/ﬁsx/?m:@ (3) D(L,0,2)f% * T I ABC » 1-5a=6 » a=-1

23 ~ FA(-2,1,4), B(4,3,2) > [l AB flu= [l 1S3 A G -
2R 3X+y-2=2

/7

ZH’? : E’V Fl1E(2,2,3) 9Vﬁz@z(6,2,—2)z2(3,1,—1) SRR D 3x+y—z=2
E

24 ~ E#‘A(l =2, 1)= 0 TR x+2y-2+1=0, B, 1 x—y+z-1=0R=pv T
%E#\ o
PR EVEfIEn =02 -1, EVE[EL=0 -1 1) iy
GQ‘-
-~ - 2 -1 14 2 DN
AR — _2 _ b
N My 2 R ‘—1 j’ 1 j’l —1‘ )=(1-2,-3) RN
E&Tj‘gj‘fyrl/ﬂﬂﬁ:h‘t"ﬁ X—2y—-3z-2=0 ?\:A‘i"wh_\\ B
L d:_-;}__\r_fr
25 i OFIELL R O IRH HiA B COIIAT xRy - | oo T
3%@1 ziEl -+ OA=0B=0C ' D I5OC Uil ffi» } O£ T FIABC — " " |
—r”ﬁ l:LI ABD F[J;LE:"IIITI/'——‘ ° \QII
A x

7 AK0,0), B(0K0), C(0.0k), D(0,0,g)

T ABC F‘k+z+E_l JoX+y+z=KkK

£ 4H



APIABDHE+% —1 Cox+y+22=k

I\J\?\—|N

0(0,0,0), d(O » = [*1 ABC) : d(O » = [ ABD) = KK =211

NG
26 ~ %A(l 24) B(5,0,2)7% T 1 E:2x—y+22 =4 5~ P [HIPA +PB il fIH
T RESE 7~ I P %H LI ?

5 A M "
T TE _F PA +PB ] i P B AB HIRTE-13) % /[ —
THEDL ?&%‘4% » M(3,-1,3)%T 1.l ?9%’4%1,0,1) / s B

PA’ +PB =22+32 442412 =30 :
27~ 1 B SERI(L3A) 2 i 5 ifo@ XY, yz, 2x = IR SER AR o H R
VA ”:[ Sline=X8 Fﬂﬁ;t IH

CEE T RE: S L §+£:l£'a>0, b>0, ¢>0
f a b c¢ a b c
TEE 3T FNER EJ/?EPﬂ?ﬂ%t:—abc
1 3.4
ca b ¢, 12 ._.a_bc>54 , Eggggj,ﬁgjlzﬁzﬂzl »a=3 b=9 c=12
3 abc 6 a b ¢ 3
3 o = « X Y Z
JEERRER B4 TR E RS+ 24— =1
R F 3 9 12

_ =

4% AT = b0, v = (a.b,.¢). n=(xy.2) AT RLFpIE - E iy =y, P
= fﬁlﬁ\ﬁ?ngﬁi R Xy 2

M

&R
ax+by+cz=0----- ©)
a,Xx+b,y+c,z=0----- ®

FinLlv, 5nlv, »Hnv=0%nv,=0 051”{

PR N = (X, y,2) % 0 » B71') X2 THEBO- BF220 -

Ff[’ﬂDxbz—®><bl’rﬁ(a1b2—azbl)x+(bzcl—blcz)z=0,x:%z
@xa-®xa, i (ab =0,y=2%"54%,
X 8 x a, * f{ (ab,—a,b)y+(c,a -ca,)z y= aib _azb1
fxiyiz =200, GBTOR, Ly e be):(ca,-ca): (@b, - ab)

aib _aZbl a1b _aZbl

£5H



